
MTS COLLECTIVE 
THROTTLE/BUTTON BOX EXTENSION

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

1x

1x

1x

PARTS

 80
 

 4
0 

2x

[dimensions in mm / different scales]
No extra or spare parts listed!

4x

420

40

80

250

40

80

70

40

80



3MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

BAG 1

4x

 30 

 Ø
8 

M8

4x

4x

BAG 2 

8x

8x

8x

black

 
8 

 18 

M8

 8,4 
 16 

BAG 3 

2x 2x

M8 M6

 16 

 
8 

 
6 

 16 

2+2 2+2

black and silver black and silver



4MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

70

420 mm

2x
M8x30

4x
slot nut

M8

ASSEMBLY

2x
universal
connector

2x
slot nut

M8

1.

2.

3.

4.

2x
M8x18
black

2x
M8x18
black

2x
washer Ø16
black

2x
washer Ø16
black



5MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

4x
slot nut

M8

4x
M8x18
black

4x
washer Ø16

black

1.

2x
slot nut M6

for Virpil button box

OR

2x
slot nut M8

for Warthog throttle



6MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

cap

cap

cap

cap



7MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

2x
slot nut

M8

detail next 
page



8MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

universal
connector

universal
connector

M8x30

M8x30

1.

1.

2.

2.

3.



9MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

Move to desired
position by loosening 
and fastening the 
bolts.



10MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

VIRPIL BUTTON BOX ASSEMBLY

4x
M5x14

4x
washer Ø10

button box



11MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

2x
M6x14



12MTSIM MTS COLLECTIVE THROTTLE/BUTTON BOX EXTENSION MANUAL

WARTHOG THROTTLE ASSEMBLY

2x
M8x16



16-03-2023

4x
M5x18

4x
washer

Ø10

4x
thin nut 

M5


